Math 433: Lesson #70
Name

1) which of the following diagrams is a reasonable graph of gy = 2% - 3?
Y
A) 3.1 0

YE
(-2|2) E
D) ('3-1)1: ¥ X

2)  Which of the following equations could be represented by the graph below?

Y
04) 1.5
X

[t

@.1)

A y=log, 2 B) y=2* C) y=log, x Dy y=27%
3) Which equation is equivalent to y = 104?

A) 4= (i)” B) y = 107 0) ¢= (i)-x D) y= -10%
10 10

4} (a) Sketch and label the graph of the equation ¢y = 3~
(b) On the same set of axes, sketch and label the reflection of the graph of y = 3% in the
fine g = x
(¢) Write the equation for the reflected graph sketched in part (6)
(d) Using the graph sketched in part (), describe the behavior of the graph in
Quadrant IV as x approaches O.



&)

7)

8)

9)

Solve: 10042 = 1,000%*

_!.

Solve: 24 ° -4=2
1

Solve: 92 = (—ye2
3

Which equation is equivalent to y = 3*?

A) log, x=3 B) logs y = x C) log, 3 =x D) logs x = ¢

A
What is y = ([5) written in logarithmic form?

A) x=f°5y(J§7 By ¥=log (') C) 9= log o D) %= log 12 4

3
10) Solve: log, 27 = —
4

11) Which of the following equations could be represented by the graph below?

)

(1,00

A) g = -log, x B) y=2* C) g=2* D) g = log, x

12) If the graphs of the equations y = log, x and y = 2 are drawn on the same set of axes,

they will intersect where x is equal to

A) 1 B) 2 0) 3 D) 4



13) Which of the following is the inverse relation of y = log 5x?

1 104
A} y=log., 10 B) y= C) y=— D) y=5«
log 5% 5

1
14) Sketch the graph of y = log, x over the domain {— = x = a}.
_ q

: X ,
15) The expression log (J__) is equivalent to
&

1
A)nlogx-zlogy C) nlog x - 2 log y

1
B) log (n¥) - log (;y) D) log (n%) - log (24)

16) If log 5 = a, then log 0.0005 is
A) a-3 BY a-4 C) 4 -a D) 3 -a

17) if log M > O, then

1
A)0<A_4£1 By Ms 1 Oy o< M= 1 Dy mM>1

18) Which of the following statements below are true based on the definition of the logarithm
g =log,

L x>0
/i b>0
W b=1
V. g>0

A /1, 1, and 1V, only C) 4 1, and 1, only
B) / only DY /and /1, only



19) Which of the following statements are true?

L log(3:5)=31log s
il log(3 « 5)=log 3 + log 5
M. log(3 « S)=log 3 + log 5
V. log(3 + 5)=log 15
A) 1, llf, and 1V, only C) 1, only
B) 1, 1/, and I/, only D) / and 1V, only

20) Which of the following statements are true?

g | 8
/ fog(g-— -9
7 log 7

8
/. log (2—) = log 2.8 - log 7
7

/. log (E) = log 4
7

8 1
V. log (2—) = — log 28
7 7

A) I and 1/, Only CY 4, 1, and /11, onfy
B) /and /7, only D) /, only

21) Simplify: log, (log, &4)
A) 1 B) 2 a3 D) 4

22) If log,, (ab) = 10 and log,, 4 = 5, what is the value of a?
1
A) — B) 10,0000 ) s0 D) 5
10
23) Solve for x. log, (x - 3) + log, (x+ 1) =5

A) {-7,5} B) 5, only C) 7, only D) {-5.7}

24) Solve for x. log(x - 3) + log(x+ 4) - log x=log 5
A) {-2,6} B) &, only O) {-6.2} D) {2.,6}



25) Given that log, 3 = 1.58, and log, 7 = 2.81, evaluate log, 147 to the nearest

hundredth.
A) 6.87 B) 1001 C) 7.20 D) 21.25

n

35
26) Given that log, 3 = x, log, 5 = y, and log, 7 = z, express log, —— in terms of , 4,
3

and z

i 1
A);(yz-x) B) 24+ 27 + 2% Q;(wz—»v) D) 4¢g+2z-2%

27) Express log x in terws of log a, log &, and log e x=a « &
2.8) Solve for x to the nearest tenth: 4% = 28

29) Given log, A = 3 and log, B = 2, evaluate:
A
(1) long
(2) log, AB?
30) Given log, A = 3 and log, B = 2, evaluate:

(1) fo A
G PP
(2) (log, ABY



31) Solve for x to the nearest tenth: 44+ = 23

32) "éﬂ'preés ra. Simplest radical -ﬁwm

a) WEG IR SJ‘T

3

b) s

“fz

e .
&) W~V =48
: ; . el-p
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1033:.43 and }.:99 4= ,6o L e o

34) I£
o) ioﬂ 4.5
b) Jog 3 3

valuate OC solve H+o & dee, places,

35) L}LS;‘/\,S a C.a,‘e,wla:'l-br‘e 2
o) 1033(“5) B v = |4



